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Multiplication Word Problems

4-Digit by 1-Digit: S2

S5)

A soap-making factory made 4,580 soaps each in 5 di!erent colors. How many soaps

did they make in all?

2)

The population of a small town is 6,208. The population of a large city is 8 times more.

What is the city’s population?

3)

There were three times as many spectators at a NASCAR game as there were at a golf

event. If 2,428 fans attended the gol"ng event, how many people came to watch the

NASCAR game?

4)

A nougat-caramel candy bar at Mindy’s Shop costs    2. If the store sells 7,462 such

bars, how much do they make?

1)

SMartin, a well-known stage performer, charges    3,950 per show. How much will he

earn from 6 shows?

6)

Will had a number of horses from a rare breed. He sold 4 of them at    9,895 each. How

much did the sale fetch Will?
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